{ Math 308 Maple Quiz 1 Summer 20039
Sec 301,302 Version B
[ > restart;with (DEtools) :

[ #19
[ > deq:=diff (y(x),x)=(2-3*x*y(x) *3)/ (3*x"2*y (x) *2) ;
12-3xy(x)
deq:=—y(x)=>—""7 7
: dx 3 ) y(x)
> DEplot (deq,y(x),x=0..3,y=0..3,[[2,.5],1[1,2]11);9
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[ #29
[ > F:=(x,y)—>(2-3*x*y"3) / (3*x"2*y*2) ;9
12-3xy°
F=(ny) =7
L 3 x2y2
> h:=.2;9
| h:=0.29
> xs[0]:=1;ys[0]:=2;1
xs, =19
ys, =29

> for i from 1 to 10 do
xs[i]:=xs[i—1]+h;J
ys[i]:=ys[i—1]+F(xs[i—1],ys[i—l])*h;J

end do;q
xs, = 1.29
ys, = 1.633333333q
xs, .= 1.49
vs, = 1.3958188719
xsy = 1.69

ysy = 1.2313321799
xs, .= 1.89



ys, = 1111767363
xss:=2.09
yss = 1.0215316499
xso = 2.29
Vg :=0.95132143939
xs, :=2.49
ys;:=0.89527726269
xsg = 2.6
ysg = 0.84955108709
xsy :=2.89
¥sy = 0.81152933019
xs,, = 3.0
Vs, :=0.77938639759

[ #39

[ > init:=y(1)=2;9

| init :=y(1)=29
| > sol:=dsolve({deq, init},y(x));9

5 (1/3)

(x*+7)

sol =y(x)y=—"—"7
X

> plot (rhs(sol),x=0..3,y=0..3);9
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[ > subs (x=3,rhs(sol)); evalf(%);
(1/3)
3
| 0.83994736669

- #4q
The Euler approximation .7794 is smaller than the exact value .8399 because the solution is concave
| up so the tangent lines are always below the curve.q




